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CONCEPT IN BRIEF: 

The scalar is multiplied with each element of the vector. 

Given that the vector 𝑣̃ = (
𝑥
𝑦
𝑧
) and k is a scalar, then 𝑘 (

𝑥
𝑦
𝑧
) = (

𝑘𝑥
𝑘𝑦
𝑘𝑧

) 

1. 
Given vectors 𝑐̃ = (

−1
2
4

)𝑎𝑛𝑑 𝑑̃ = (
−2
4
3

), find the constant 𝑘 such that  3𝑐̃ + 𝑘𝑑̃ = (
1

−2
6

) 

 CONCEPT IN BRIEF: 

While adding or subtracting vectors, just add or subtract the respective components. 

Given vector 𝑎̃ = (

𝑎1

𝑎2

𝑎3

)and 𝑏̃ = (
𝑏1

𝑏2

𝑏3

), then 

                             𝑎̃ ± 𝑏̃ = (

𝑎1

𝑎2

𝑎3

) ± (
𝑏1

𝑏2

𝑏3

) 

                                       = (
𝑎1 ± 𝑏1

𝑎2 ± 𝑏2

𝑎3 ± 𝑏3

) 

2. 
Vectors are given as 𝑥̃ = (

2
−3
1

)and 𝑦̃ = (
0
3
−1

), find: 

(a) 𝑥̃ + 𝑦̃ 

(b) 2𝑦̃ − 𝑥̃ 

 

 

CONCEPT IN BRIEF: 

If two points 𝑃1 and 𝑃2 are known, the vector from  𝑃1 to 𝑃2 , 𝑃1𝑃2
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗      is found by: 

                                   𝑃1𝑃2
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  = 𝑃2 − 𝑃1 

 

3.  Point 𝑃1  =  ( 0,−3, 4) and 𝑃2 = ( −1, 2, −1).  

Find the vector  𝑃1𝑃2
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗   

 

 

 


